ERIER ST £4 Z0|

1

> 7Y PR =H SFHHTSE 1,286,4605F2 AU(1,224,226%) tH] 5.1%(62,2345) Z7},

Ad%E71(1,226,792) HiB] 4.9%(59,668%F) %7}

7=
TEA) 1,226,792 28.4 35.6 31.5 4.4
2o 1~7TEB) 9,055,884 28 35.6 32.2 4.2
6E(C) 1,224,226 29.2 355 30.9 4.4
2015 7E(D) 1,286,460 29 35.1 31.5 bL.b
1~72(E) 9,015,850 28.7 353 31.6 4.3
THHI(D-C) 62,234 AQ.2 AD.4 0.6 0
HES7 B ID-A) 59,668 0.6 A0S 0 0.0
HA=ACHHIE-B) 240,034 0.7 A03 ADb 0.1

) 1. 2011 68 1Y 2H SiXISSHE EYSE
2. 2013 72 1Y 25 XSS RNE(T, 1, 2, SLi5g22 )

HRIER ZYNE 5%

|
=

358, 74 DSE2 7IE0IM H2)

> A= A=A (FED) kg BHES7H2 5,664 €07 HAU(5,623¢) viv] 419 =55 AlL)

SZ8E 365" 2015 August
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